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Note : Al Questions are compulsory and each question iy-of 1 mark.
(i) o e s B w0 R s s B AR
Only English version is valid in case of difference in both the languages.

| wm TR l. Constitutes a passive element
L (@) SwemEm (a) Voitage source
i (b) R () Current source
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2. The maximum valpe of the

L g (K) ¥ A T E coefficient of coupling (K) is
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(s) B-(MN-L

by N-(B-1)
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(¢) KCLWEKVLW
(@ KCL, KVL i it ¥ w0

(2)

A practical voltage source consists of
(a) &n ideal voltage source in seri

(b) an ideal voltage Source i

(¢) both (a)and (b) are cormect
(dj none of the above

WMesh analysis is based on

(a) Kirchhoff's current law
(b) Kirchhoff's voltage law
(c) Both

(d) Mone of the above

If a network contzins B branches, af
N nodes, then the number of me
current equations would be '

(a) B-@-1)

(b N-B-1)

(<) B-N-1

(d) B+NI-1

The nodal method of the metw
analysis is based on

(a) KVLand Ohm's law

() KCLand Ohm's law

() KCLand KVL

(d) KCL.KVL and Ohm's law
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5. T IR WO 4 v et v
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B P
(a) 50 Wi
(B) 100 v
(e} 150 e
(@) 200 v
twork
10, fowlta mity 2 &
() oy 71 g ohry
(®) T e vt
{c) ﬂwﬁmrr‘ﬂhwawmﬂh
(d)  Iuirw A & o ah

10,

1d) Al the above

A delta connection contains three
resistors of 30 £ each, The resistors
of the equivalent star connection will
(@ 50 each

(b) 100 each

(e} 15 Qeach

(d) 200 each

Milliman's theorem yields

(@) Equivalent resistance of the
circuit

(&) Equivalent voltage source
(e} Equivalent voltage source or
equivalent current source
(d) None of the above
P.T.0.
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{a) 10'mA
() 5 mA
{c) 2.5mA
) 1 mA

13 fei v ot oo % o i i
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250

(i 10V

Ry

ferw.2

) 25W
(dy 25W

{a) SW
{cy 10W
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(a) 1fs b 1
(c) 1452 (d) lUs+s
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11. The Thevenin's equivalent resistance
Ry, for the given network in fig. 1 is

362
30
40
20

(a)
(b)
(c)
id}

12. A network is connected to a load of
1000 £2. If the Thevenin's equivalent
voltage and Norton's equivalent
current of the network are 10 volts
and 10 mA respectively, then the
current through the load will be
(a) 10mA
(b} SmA
fc) 25mA
(dy 1mA

13, In the given circuit fig.-2, the
maximum power transferred to the
load will be

2540

Fig. 2
h) 2.5W

fg) SW
{c) 10W @ 25W

14. The laplace transform of a unit step
function is
{ay 1/s
(c) L

) 1
(dy 1fs+a
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ic) Fis5)
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(@) 20 ® 19
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15.

16.
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18,

19,

Laplace transform of the function ¢
is

{a) 172s

by s+2

6ol
(c) s+ 2

(d) s

- S+ 3 3
Given F(s) 'Efss-i-tl-}' then f{s<) is

(@) 1 b) 2 '
ey 0 d 3

The inversa laplace transform of the

g E4+ 5
function 7 e TRy s

(@) 2et-g™
b) 2et+e
{€) et—2eH
(d) e+ 20N

The laplace transform of the function
et fit) is

(a) Fis)

(b) F(s-1)

(e) Fis/5)

(d) F(5-3)

The initial value of the function

20 - 10t - et j5
(a) 20 ) 19
{cy 10 (d) 25

P.T.0.
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(a) 1 Amp. {by 2 Amp.
{¢) 3 Amp. {d) 43 Amp.
21, witvE wE A R

(a) e Wi g R
(b St W g e §
(c) Ew Fais g o §
@ FOEF

22, T W fae-4 % FAT Z parameters
B
50 120

BL1

(6)

20, In the given circuit fig. 3, the switch s
is closed at 1 = 0, the steady state
value of current is

Ry

— 4V

g b

Flg. 3
(a) 1Amp. (b} 2 Amp.
(c) 3 Amp. (@) 43 Amp.

21. The transient response occurs
{a) only in resistance circuits
{(b) only in inductive circuits
fc) only in capacitive CirCuils
(d) bothin (b) and (c)

22. The Z parameters of the given
network fig. 4 are

50) 124

2L
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(a) e Fodh it o i |
(by Tt forii =t g W |
(c) it fort ) mqmr e
(d) T fadt = e

T e it & g F v el
1 A e

(a) Z-Wr=e
(b) Y -Aram
(c) ABCD wraw™
(d) h-wrEe

w4t ufmg f L <15 mH,
C=0.015 uF W4 R = 80Q ¥ 1 oFp7m

HE T PR W 5 g o
@ 150

(b) 0.0150

{c) 800 ' Wl
d) ©

T FHRR 5T Uiy 4 L = 1mH,
C=10°Fm R = 1000 1 Q 7o
1 B

(a) 1

(b) 10

(e) 20m

(dy 100

7

23. The h parameters h;, and h,, are

obtained

(a) By shorting output terminals
(b) By opening input terminals
(¢} By shorling input terminals
(d} By opening output terminals

. Parameters are widely wuwsed in

transmission line theory
{a) Z parameters
{b) Y-parameters
() ABCD parameters
(d) h-parameters

. In a series circuit L = 15 mH,

E-ﬂ.ﬂlﬁpﬁ'agd R = 80 £, what is
the impedance at the resonant
frequency 7

fay 1582

(b) 0.0150

(c) BOGQ

idy 0 |

. In parallel resonance circuit L =

1 mH, C = 10-° F and R = 100 €, the
value of Q factor will be

@ 1
{b) 10
() 20w
(d) 100
P.T.0.
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(a) 7 s A @ afew E

(b) W S A AT

(c) a5 3 AT & e

(d) TR EE A

it Rt e S A T
e &, Fore

(@) m=1

(b) m=038

(¢) m=403

(d) m=056

(5)

27.

20

If f, and f, are half power frequencie
and f, is the Tes0nance frequency, th
selectivity of RLC circuit is given by

I -f f-f
{a) fl] (b} If':l-
gyt :
Tk E&_':-Q.
i d
e fl"fcr " f1"f|:|
=T
Anit:’peﬂlﬁltﬂshnul&hwe- I
(a) zero attenuation in the pas
band =
(b zero attepuation  in th?'
sienuation band '

(c) infinite attenuation in the pas
band

(dy infinite attenuation  in tlu,
attenaation band |

|

In the m-derived low pass filter,

cesonant frequency is 1o be chosen

that it 15

(a) .above the cut-off frequency

(b}  below the cut-off frequency

(¢) equal o the cut-off frequency

(d) none of these

Terminating half sections used
composite filters and built with the
gy m=1

by m=08

(¢ m=03

(d) m=06
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s (i) mEmme st & s @ e e & g g |
the Yote Question No, 1 is compulsary, answer any five guestions from the rémaining.

(ii) R AR & W W W EE U T A A
Selve all parts of a question consecutively together,
(i) ER T A G W S
Start each question on a fresh page.
(iv) G umma & s g o faf o i s A A E
Only English version is valid in case of difference in both the languages,

L) i e R ofry st = s o SR |
Explain the lumped and distributed network elements with suitable examples.

(i) Tt v i F T
Explain Milliman theorem in brief.

(iti) Tereem it et i o Ty |
Explain shifting theorem in brief.

(v} raite freer @ e weww § o v i we |

What is line filter 7 Classify them, (2x8)

) P.T.O.
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(i)

(i)

ey it T o ey o fimg =it vy e e e S e i |
Write mesh equation and find the mesh currents for the given circuit of fig.

ﬂmwmﬁmﬁﬁ#gfﬂﬁ#uﬁﬁﬁmmnﬁﬁhm#ﬁ |

Using nodal analysis method to determine the nodal voltage for the given circuit
of fig. %, {6x2)

W) dn ¥a

YN Y

et iy e v o R, = 200 e s

Find current in resistance R = 26 using Thevenin's theorein in fig.

R, =20} Ry=100
APPY A

Describe maximum power transfer theorem and explain the necessary condition
for maximum power transfer. (62

_
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(6x2)

(1) 2049

F.. (i) P T W Hie
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(i)

—

(it}

Find the Laplace transform of ;
(a) EVEWE FEH
Exponential function
(b) HEA F HEETA
Derivative of function
Wit BT ST M T
Find the inverse Laplace transform of :

1
@ g

S42
® SE+ IS +3)

(3x2, 3x2)

T e T A T P T e e e T () A
Assuming zero iniﬁn'i. condition for the circuit given in fig, find the value of

curment i(t)
: _
50 1 H 025 F
A —r—

By '
Fow )-‘ft}

Framis K mtﬁﬁtmh s Froai K waw & fos s e v
mmmﬂﬁhmwﬁsMMnh

What is constant ‘K’ type filter 7 Design a constant 'K’ type low pass filter
having cut-off frequency of 2 KHz and load impedence of 500 £1. (62}

frtd s & g 2w Y el B ey T i
Establish the relation between ‘Z" and 'Y parameters of a two-port network.
P.T.0.
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Find ¥-parameters for the given two port network of fig. (6€2) EF203/
I 1040 1
+Tp— AN —.——-f+
V, 50 soty Vs

(i) wﬁmﬁwﬁnﬂn.hmﬂmmmﬁ1h=t=&mqﬁh&-. R

(¢) st s £, TG

Reciprocity theorem (62)




